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We hawﬁ cEem ﬁ%&fé j"MrﬁM f;i /;?3 Can .éi?. Jercn'éed’ s kv&f’
sucfaceo (}(i+‘ﬂz+ ¥ =1 Re mmptn.) ovr ?assfblua as the %fnfh of
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Considen W E‘t- azzf Hhis s a Aafeféctzw'c/, I‘fﬁav

know o it aboud kﬂperévh‘r. #-'3- Fun chons then +he ﬁ.{faw,hé
pammn‘fizu.ban o5 ﬂ;r% obvisus

X = CoshY ces ® X2 +Y'= 3> = cosh® ¥ ces®® + cosh Vsin'® - Sinh*)y
M = ceshy sin® = cosh'Y ~ sinb?r
'5 = snwh Y = 1, (i# works )

We 7/ San Y ois o a h
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mappj'ag in Aoted s -Z:(Y, e)= (Ca:h}"tosﬂj Cosh7 sin O, Srhﬁ?")
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\We ofve  Yhe werhodoloay for eadn deseciphion of a  sucface

I,) If Fxv,2)=0 and (X, 9, 3.)
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ir o Fain‘f‘m
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IE) Given a Parme#ﬁ;dJ Sarface X (uv) e sﬁa"g a parfcalar
Pﬂ*ﬁf' Z(U,J ’V;,). Notie we hove Huo Curves %mnﬂ

Ahe Pm}wf which ore concdructed 5; ﬁkrﬁ?g cne  of 4 Perametes
and  letting e othen  yury s lek denck fhem o & A,

x (u) = X(u,v)
& (v) = X(uU,V)
The 4on Vecters +p Ahece CGurves are %zfuen Ly
Ahe P S decivodives of the Mep Z{
' (U) = %(u,v,} ¢ B(v)= —g%(m,v)

Hen ob the point of niwast we have +wo Hunoeich e chocr
T the sucfee  and presumebly  «’(U,) x B(%) # O , actusdly
Ahis e net uniugr;,_u? ) '“‘:':r uﬁ.ﬂ S'Wuscum 2 bud s Trwaz

foe oCiented surfuzs where Z“xzv # 0 ‘w‘u;v,
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N(u.,v.)e (F— X(un’,vﬁ)) = 0 4 F=<x,ta,z>_

Kemork = s Very Simple  we caaib He normed enn of Huwoe ways
(E.) ‘b'-a 'Y cbfn.oh'ﬂw'f) VF' ﬂ'-'“""f-ﬁ +w F=p
ﬁl) i.na Cross pﬁﬁlw’r of Jnmtawv\i"}' N'—-‘Xux Zv o P QU




